’m (7) Aan#zE3I< FBH = 8 (

O+3)-(-2)
(- 2)&BI< = (+2)&RT (- 4)&3I< = (+ 4)&RY

BUEICREBLT, EBUEICREBLT,
(+3)—(=2)=(+3)+(+2)=+5 (=6)—(—4)=(-6)+(+4)=-2

~ HIlFL T, #MDLETOOTH!
BULEICRBLT, ROFGTEZLIREU,

1| (#5)=(=3) = ( )+( ) = 2| (=4H)-(=7) = I+ ) =
3] (+#4)-(=2) = ( )+ ) = 41 (=7)-(=1) = ( )+( ) =
50 (#2)=(=8) = ( )+( ) = 6| (=6)=-(=3) = ( H)+( ) =
71 (#5)=(=2) = ( )+ ) = 8 (=1)=(=9) = ( )+ ) =
9| (+1)-(-1) = ( )+ ) = 10 (=5)-(=7) = ( )+ ) =
11} (+5)-(=4) = ( H)+( ) = 12y (=8)=(=3) = ( )+ ) =
13] (+12)-(-10) = ( H+(C ) = |14 (=200-(=80) = ( )+( ) =
15| (+#30)-(=20) = ( )+(C ) = |16] (=50)=(=50) = ( )+( ) =
17 (#11)-(-11) = ( )+(C ) = |18 (=15)-(=25) = ( )+( ) =
19| 0-(-0.9) = +( ) = 200 (=%5—(=3) = ( Y+( ) =

[bwTICRES] [BIR—ZCRB] [IRR=Z(CED]  [BEoXR-J(TED]



http://homepage1.canvas.ne.jp/ynaka/index.html#top
http://homepage1.canvas.ne.jp/ynaka/1nen-1/1106.html
http://homepage1.canvas.ne.jp/ynaka/1nen-1/1108.html
http://homepage1.canvas.ne.jp/ynaka/1nen-1/1107a.html

